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2. Work in pairs. Look through the paragraph below and fill in the table.

Every economic system tries to anticipate and then meet human needs through the production and distri-
bution of goods and services. The economic system is the mechanism that brings together natural resources, the
labor supply, technology, and the necessary entrepreneurial and managerial talents. So, the first ingredient of an
economic system is the natural resources from which goods are produced, and which include the natural fertility
of the soil, minerals, forests, rivers and the riches of the sea. Unlike the other ingredients, the natural resources
are limited in supply, but good organization of living helps cope with this problem. Second, the amount of avail-
able labor and its quality — how hard people are willing to work and how skilled they are — helps determine the
health of an economy. The strong emphasis placed on education, including technical and vocational education,
also contributes to a country’s economic success. Third, enterprises, which are well organized, well managed
and which use up-to-date equipment will generally be more efficient than those, which are poorly equipped and
badly managed. This means that an enterprise should follow the world technological achievements in order to
perform better results. And last but not least, no economic system can do without such an ingredient as entre-
preneurship. The existence of abundant natural resources and a skillful and willing labor force accounts for only
part of the structure of a country’s economy. If left to themselves, these ingredients will not produce anything.
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3, Work in pairs. Find in the passage the words with ¢

clation are they used in the passage in? he same meaning as those given below. What

Expect; satisfy the requirements; capitalist;

e > St; component; productiveness; i i isti

? o ) ; ness; manage with; quantity; existing;
professnonal training; add; venture; modern; free enterprise; plentiful; justify; undertiking‘ as(iume 4 =

4. Workll’lll(l::l:z- :::i:‘c:‘ ﬂlllett:rms GNP and GDP with their explanations below. Then look through the
passage b€ whether the statements below are true or false. Explain your answers.

gross national product (GNP) A. total annual value of all goods and services produced in a coun-
. try, except for income received from abroad
gross domestic product (GDP) B. total annual value of all the goods and services produced in a
country
TRUE | FALSE

GNP can be used to measure economic growth, but GDP cannot

Real GNP is related to the price increases

Real GNP does not depend upon the changes in population

If you reduce unemployment, GNP will permanently on rise

As soon as all resources are completely employed, the GNP increase will stop

If any two countries have the same rates of economic growth, the difference in their liv-
ing standards will always stay the same

Economic growth refers to an increase in a coun-
try’s annual output of goods and services. The meas-
arement of output, which is used to measure economic
growth is normally the Gross National Product (GNP).
However, the Gross Domestic Product (GDP) is also
used for this purpose. The rate of economic growth is of-
ten used as a measurement of changes in the standard of
living. This means that it is changes in real GNP, which
are important. Increases in GNP, which are simply due to
price increases cannot be treated as economic growth. If
changes in GNP are to be used to measure how the stand-
ard of living is changing, we must also take account of
es. For example, if real GNP increases
also increases by 3 percent in the same year, there would be no
owth in output per person, which makes higher living standards
st, a country may have many people out of work

population chang

by 3 percent in one year, but total population
change in the average standard of living. Tt 1s gF

possible. Economic growth can come about in two ways. Fir

131

‘—4



s

The resources mu;t be brouhgll;togelhef and dir'ectc.%d as efficiently as possible into the areas where they will be
most productive. S0, once the first entrepreneurial investment of capital has been made, someone must be hired

i factory or oth isi
{0 manage the business, ry er endeavor - to take the decisions on wh
and to undertake all the responsibilities and the risks. S G LA

The economic system consists of:

H that include: (a)
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(3) To be a success, an enterprise should be: (a)
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Q) that should decide =g
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3, Hogkyis,pane. Finf‘ in the passage the words with the same meaning as those given below. What
relation are they used in the passage in?

Expect; S.at!Sfy the requirements; capitalist; component; productiveness; manage with; quantity; existing:
professional training; add; venture; modern; free enterprise; plentiful; justify; undertaking; assume.

4. Work in pairs. Ma'tch the terms GNP and GDP with their explanations below. Then look through the
passage below to decide whether the statements below are true or false. Explain your answers.

gross national product (GNP) A. total annual value of all goods and services produced in a coun-
try, except for income received from abroad
gross domestic product (GDP) B. total annual value of all the goods and services produced in a
country
TRUE | FALSE

GNP can be used to measure economic growth, but GDP cannot

Real GNP is related to the price increases

Real GNP does not depend upon the changes in population

If you reduce unemployment, GNP will permanently on rise

As soon as all resources are completely employed, the GNP increase will stop

If any two countries have the same rates of economic growth, the difference in their liv-
ing standards will always stay the same

Economic growth refers to an increase in a coun-
try’s annual output of goods and services. The meas-
urement of output, which is used to measure economic
growth is normally the Gross National Product (GNP).
However, the Gross Domestic Product (GDP) is also
used for this purpose. The rate of economic growth is of-
ten used as a measurement of changes in the standard of
living. This means that it is changes in real GNP, which
are important. Increases in GNP, which are simply due to
price increases cannot be treated as economic growth. If
changes in GNP are to be used to measure how the stand-
ard of living is changing, we must also take account of
population changes. For example, if real GNP increases

by 3 percent in one year, but total population also increases by 3 percent in the same year, there would be no

change in the average standard of living. Itis growth in output per person, which makes higher living standards
possible. Economic growth can come about in two ways. First, a country may have many people out of work
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elow and for questions 1-12 read the text ang chogg,
fill each of the spaces. Then go back to the prOblem

5. Work in pairs. Discuss the problem questions b
from the list A-L the best phrase given below to
questions and discuss them again.

PROBLEM QUESTIONS

What is inflation? Can prices fall during i"ﬂatiom
What is hyperinflation? What are the causes of i“ﬂationé
How can the government control inflation? What May hy
pen if prices are held down during inflation? Whga¢ may
happen if wages are held down during inflation? :

Inflation describes a situation where priceg are
persistently rising. It does not mean that all priceg are
moving __________ (1), or even in the same directj,
Some prices may be rising very sharply, others may p,
rising very little, and a few may even be falling. Inflatio,
is taking place when prices, __________ (2), are rjs.
ing. Inflation may also be described as a situation where
the value of money is falling. When prices are rising,
the purchasing power of a monetary unit, e.g. a dollar, js
falling; it will buy fewer and fewer goods and services
Inflation has been __________ (3) in the post-war pe.
riod, but different countries have experienced very dif.
ferent rates of inflation. Some countries, such as Swi.
zerland and Japan, have had relatively low rates of inflation. On the other hand, Brazil experienced inflation
(4) of 200 per cent per annum in 1984, and in 1985 Bolivia had an inflation rate of more than

tion. There is still much disagreement among economists on the causes of inflation. Some of them believe
that prices are pulled upwards by excess demand. Others maintain that prices are pushed upwards by ris-

ing costs. Many economists now believe that inflation takes place when ________ (6) is allowed to rise
a __(7) than total output. Governments have the power to control prices, and this would seem
(8 of controlling inflation. However, if pricesare __________(9) the equilibrium level,
shortages arise and these could lead __ ___(10) of rationing. Another problem is that if prices are
held down while costs are still rising, many firms could find themselves making losses and be

(11) down. Nevertheless, it is not (12) that workers will accept controls on wages unless the
government also places some kind of control on prices.

A. to some form D. a faster rate G. atarate J. to the same extent

B. very likely E. the money supply H. on average K. such as these

C. forced to close F. held down below I. an obvious way L. a world-wide problem

6. Work in pairs. Explain the meaning the words and word combinations below are used in the passage if-

1. value of money; 2. purchasing power; 3. monetary unit; 4. rates of inflation; S. per annum; 6. hyper -
flation; 7. demand; 8. excess demand; 9. rising costs; 10. total output; 11. power to control prices; 12. equilit-
rium level; 13. shortage; 14. rationing; 15. hold down prices; 16. make losses; 17. accept controls on wages.
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PART 2
LINOLEUM PETROLEUM

A new portion of Lappy’s tasks, this time on industry. Help James

1. Work in pairs. What branches of industry can you think of? Make a list of them. Discuss your list with
the other students of your class.
2. Work in pairs. Distribute the industries below among the three categories: heavy industry, light

industry, services.

oil extraction power generation wood-working tobacco banking food fuel wood pulp and paper
wholesaling chemical gas-and-oil pipeline transportation ~drinks electronics retailing oil refinery
pharmaceuticals insurance construction materials electrical ~engineering paper gas extraction
instrument  engineering forestry shipping futures publishing computing non-ferrous metallurgy
pipe-and-rolling  coal-mining pottery ferrous metallurgy printing tourism shipbuilding aerospace
consultancy construction petrochemical ~metal-working ~synthetic fibres mechanical engineering

{DRIvER

SERVICES

LIGHT INDUSTRY

| HEAVY INDUSTRY
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ranches of industries do they illustrate? ¢

3. Work in pairs. Look at the photos below. What b
Compare and contrast the photos, 08¢ fmm

the box below and the one in the previous exercise.

varnish  flower-and-cereals  dairy.

textile automotive aircraft wine leather paint-and-
frigeration ~electronic

brewing film-making baking re Ad-mey
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4. Work in pairs. Match the description of th
u;blc. There is an example at the beginning,

Materials and Installations
oil, natural gas, coal;
8as turbine power stations,
nuclear power stations,
plant and equipment

B. Offshore Industries

¢ UK industries (1

—=7) with their names (A-G). Then 1l in the

Products

electricity

$

C. Mineral/Metal Products

D. Chemical Industry

)

E. Pharmaceuticals

F. Mechanical Engineering

A

G. Electrical, Electronic and

Instrument Engineering
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manufacturing sectors. Employi.?g over 87,
£ a million others in related activities, Bfitain
[so active in biotechnology research ang b
lin and genetically-engineered vac;, &

This industry’s trade surplus is the second largest of all
people directly, it supports employment for a .quaner'o
is the world’s fourth largest exporter of medicines. It is 2

made major advances in the development of drugs such as human insu : :
i cts in the organ .
This industry is the third largest in Western Europe. The most important produ ganic chep;_

cals range are ethylene, benzene and propylene. A substantial proportion of wor Id r esearch and df?vel.
> 3 ; e inorganics production consists of relative|

opment in agrochemicals is conducted in Britain. Much of inorg oy - vely
simple bulk chemicals, such as sulphuric acid. Expansion in the plastics sector recently fl mainy
thermoplastics. X i ;

An extensive range of computer hardware systems and associated equipment and software BIS' produceg

in Britain. Several leading overseas manufacturers have manufacturing plant§ in BrlFam. ritish firmg

and research bodies have been active in developing new semiconductor ma}terl'als, which can he!P com-
puters work much faster. British Telecom (BT) is the main customer for commumcatnonf network eqmpm;m.
Supported by a technically advanced cable industry, it has led in the development of optical fibre communica.
tions systems. :

Britain is the world’s ninth largest oil producer and the fifth largest gas producer. Dev<?lop1ng North Sea
4 oil and gas has created a huge support industry offering equipment and services to oil and gas compa.

nies at home and abroad. The two leading British oil companies are British Petroleum (BP) and She||
(the latter is part Dutch).

Major products include plant and machinery for industries such as chemicals, power and water, as we]|
5 as fabricated steelwork for bridges, buildings and industrial installations. Britain is among the Western

world’s biggest producers of tractors. Almost all the output of machine tools is purchased by domestic
industries. Most sales of textile machinery are to export markets. Overseas orders for mining machinery and
tunnelling equipment are also substantial.

Britain has the largest energy resources of any EC country. Almost all of Britain’s energy is provided

by oil, natural gas and coal. The electricity supply and gas industries have been privatised, with gas

increasingly used to produce electricity in combined cycle gas turbine power stations. Around 20 per
cent of electricity is supplied by nuclear power stations. British companies sell a vast range of plant and equip-
ment to the energy industries.

Producing about 80 per cent of Britain’s crude steel, British Steel is the fourth biggest steel company
7 in the Western world. In addition to its large output of non-ferrous metals and their alloys, like alu-

minium and copper, Britain is also a major producer of specialised alloys for the aerospace, electronic,
petrochemical, nuclear and other fuel industries. Titanium and titanium alloys, for example, are used in aircraft
production. The ceramics industry manufactures domestic pottery, sanitaryware and tiles. Britain is the world’s
leading manufacturer and exporter of fine bone china.

S. Work in pairs. Use the table you have just filled in to describe the UK industries,

Model: The UK power generation industry produces electricity on the basis of oil, natural gas and coal,
which are transformed into energy by means of plant and equipment at electric power stations. The combined
cycle gas turbine power stations have been increasing in number lately. However, about 20 per cent of electric-

ity is produced by nuclear power stations.
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11. Translate

V Benukiii Bputanii Jy>xe po3BHHYTi BUCOKOTEXHONOTIYHI BUAM POMUCIOBOCTI, Taki sk GapMaLieBTHKa,
eJleKTPOHiKa, aepOKOCMiHa MIPOMHUCIIOBICTh Ta BUPOGHUITBO oduopHoro obnanHanHs. bpuTaHceki komnanii
y LMX Fay3sX Hanexarh A0 HalMOTY)KHILIMX Ta Haiy CHLUHILIMX Y cBiTi. BpuTaHchKa XiMiYHA MPOMUCIIOBICTD
nocinae Tpere Miclie cepel Ha6LIBLIKX y CBiTi. [ToHan NoNoBMHM NPORYKLi ekcropTyeThes. Tpanuuiiiko Be-
nuka BpuTanis Gysa Hai6inbLIMM BUPOGHHKOM OCHOBHMX NPOMMCTIOBHX XiMiKail, TAKMX K OCHOBHI Ta HEOp-
raHiuHi XiMi4HI peYOBMHH, IACTUKH Ta JOOPHMBA. 32 OCTaHHI POKU OCOBIMBO LUBUAKO PO3BHBATIOCH BUPOOHH-
LITBO crieUia/IbHUX XiMiKanlii, gapMaleBTH4HOI Ta KOCMETONOrYHOI npoaykuii. BpuTaHchka dapmaleBTHyHa
NPOMMCIIOBICT MOCifa€ YETBEPTE MiCLIE B CBITi 3 €KCTIOPTY JIKIB, ILI0 CTAHOBMTH 12 BiICOTKIB CBITOBOTO PHHKY.
Cepen AOCATHEHb GPUTaHCHKMX KOMIaHiH — HOBI 3aCO6H JIIKYBaHHSA acTMH, apTpUTY, MirpeHi T2 KOpOHapHOI
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y TaKHX raty3sx, Ak po3podka nikis, Hanpunan, moncy, Hljx Monudbikauiit. Benuka Bpuranis 3pobuia 6a-
rar reHEeTHYHOI iHXEHepil; B . KMH IHCY11iH Ta inTepdeponn; mensieHHs, CTBOPEHI
4 pIOHen apChKHX npoll}'lcriapn’ b L aHTHBIOTHKIB 32 Jlonomc‘)jlflmop be ,Ml rauii C,TBOPCPHHSI

0 arn o : eHTaLil:

ianbKorochlﬂiH“X npunais Ma;lm“o%;man, CHIRIX 20 indeuii Bposai, a Taxox )}') BHPOGHHLITBI MeHH-
jarHoc A1IR: NYBaHHS — ramysg 18 v
: <‘)6€MBO, y BUPOOHHLITBI OONANHAHHS Ju1s TpakTop ¥3b, e Gputancbki dipmu gocarau 3HaUHNX YCTIIXIB,
0¢

XiBOK TA KOMIpecopiB. Benuka B PIB Ha kontecax, neurynis By TpiuHboro 3ropats, miaiom-
i BRHTAIEEE ; PHTaHIS — O1WH 3 HaGinb X Y CBiTi BUPOGHUKIB TPAKTOPIiB, L0
LIaAaIoT maibie TpH deng BHITYCKy o6n§11HaHHx AJISL CUTbCLKOTO rocrofapcTea Bl;nm(a E mpauia rIT)oc,inae
ocTe micue B C-BEEI 3 BUPOOHHMUTBA Bepetari. Enexrponna NPOMUCIIOBICTD B[:anuxc;‘f b I/ITaHi-l.pnocmae seTnep-
pe wictie Y GBI Ii mpoRYyKLISt — ue KoMm’lotepu, Komymikauiiine obnajHaHHs Ta WK poxe KOJIO KOMIIOHEHTIB.
OKpiM pupOOHMLITBA PISHOMAHITHIX KOMIOTepiB Ta iHworo KOMIT IOTepHOro 06HaJIHzHH 4. GpHTaHChKi DipMH
(TBOPIOIOTE npovrpamm nponyfcm s IfOMI'l’}OTepiB, 1 € 0CO6IMBO CHMBbHUMMU Ha cneuiani3,013:uux pWHKaXx, Ta-
i AK Lmyqffnn pO3yM, KOMITYOTEPHUH 1U3aiiH, MaTemMaTuywi nporpamu, reorpadiusi inpopmaLiiHi cucr,emn
-y pisyanizalis AaHAX. 3 p

{HIIMX rajgy3ei BUpOOH = .

i (izf;‘e}guoaa, Telj:Tynana 'Il?a m::‘;:: n Bk 3 e £ DN, KpaOncbyjy papia TaMORoE” g
Hepis, = : o POMHCIIOBICTS, MariepoBa, BUIaBHHYA IPOMUCIIOBICTb Ta APYKap-
crso. KommaH1A Bpuriw Crin Bl{p(.)\f'inxe Maiie Tpu uBepTi HepadinoBaHoi cTani. KpiM KobopoBUX MeTaJliB
7, IXHIX CIVIBIE, TAKHE L EHOMIHIM Ta Miflb, GpuTaHchki hipMu Takoxk BUPOGNAOTE ClielliabHi CIUTABH JUTA
aepOKocmquO.l, CNICKTPOHHO!, apmaueBTHYHOI, snepHOi Ta iHwIMX BHMJIiB IPOMUCIIOBOCTi. Benuka bpuraHis €
OIHHM 3 HaﬁGmbml«pf Yy CBiTi BHPOGHHKiB Ta excrnoprepie hapgopy.

V TeKCTANIBHIN Ta WBEHHIA MPOMUCIOBOCTI MpawoioTh Maibke 13000 dipM, 3 AKHX YMMATO MATHX Ta
cepenix. BpUTaHChKA BOBHAHA TEKCTHIbHA IHAYCTPiA € onHieto 3 HalBaMBilIKX y cBiTi. BpuTaHChKi dipMK
7aKoyk HAJIEXKATH [0 POBIHUX CBITOBMX BUPOGHUKIB TKAHHX KHITHMIB.

CrpiMKHMii MPOrpec aMepUKaHCHKOI POMHUCIIOBOCTI Ta CiIBCHKOTO rOCIOAapCTBa 3yMOBIIEHHH, 30KpEMa,
pHCO0, SKY HaCTO Ha3UBAKOTH THIIOBO aMepyKaHCkKoto. Lle mocTiliHa roToBHicTs 10 €KCIIEpMMEHTIB pa3oM i3
GakaHHAM 3HAMTH HOBI pillleHHs cTapux npobnem. CowiankHa i reorpagiusa MOGIIBHICTE TAKOX IPae CBOO
poJib. Konu Ha cTapyx MPOMHCIIOBHX MiAnpremcTBax Ha CepenHbomy 3axonii 3°ssBHIMCS NpobieMH, JIFOIHM 3a
BIIacHAM 62KAHHAM TIOYAIH MepEDKIDKATH 10 THX PEriOHIB, e BOHH MOIIX 3HaiiTy poboty. KanidopHis i Te-
xac ChOTO/IHI € TIPOBIIHUMH LITaTaMU B AMepHili 3 06¢ATiB BUPOOHHYOT NpomyKLii. Bisbliie MONOBUHY 3 MOHAL
120 MinbHOHIB aMEpUKaHIiB, SKi CTAHOBIIATH poGOUY CHITY, € CITYXGOBUAMH, MPHYOMY Y cepi 06CTyroByBaH-
ns 3aiiHsTo e 20 MinbitoHiB ocib.



